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KRS T 33,828 10,834] 13,398,600 2,680,873 1,039,514 0.076 185,750 5,353 65,455
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EALEANEHEE 92 66 9,476 6,622 2,854 0.000 42 47 47
=k 593,763 276,058] 455,044,682] 71,698,661 35,870,290 1.204 3,565,064 89,410 928,388

—  BERRE ¢ SRR e TR -

= e FETHH R
LEBMEERE 4 TREEEOFEARLADHGRE, 2 FE -
QARBEE R i TEECEHE BRI ME R, 2R
3 RRERL TR A B OE A BT R F A RRREE 2 480 - LU & T T R EaAL -
AJBGR AT FHEIEARA « B A N E IR A AL S RS s 2980 > D a T oo BB -

STHGREREE (BUeR) - BEICEAE A ERGIAR A S RN (S0 - el To e -

6. AR« EEAAE N E AR Z mIBGRAE BER BRI EUCHOEER . CalI ot e e BT B3 1L HOH &
FARR(—)E5092801 18265 AR EF IR ) -
7.ESRFI IR IRERE © B R 0 E H RIS FEB AT IR IRGEEREE - DU & T T BB -
8.8 AR IREEH - B L E A E R IR &80 > DUl oo BB -

0. EHEE R RIREH  EAENE KL  EFERFHEHERRZ S - LT T T AR -
= RN E HIEGRE R —E H




